Qolefm

American University of Beirut Mrs. M. Itani Hatab.
Mathematics Department

Spring Semester 2011-2012 \/ *

Math 101 Quiz I @szOf)

Name : ID#:

o Circle your problem solving section:
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o Answer table for Part I

A
d
b
c
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Part1 (30%) 10 multiple choices with 3 points for each correct answer and -0.5 penalty on each
wrong answer.

Circle the correct answer then, copy your answers as a, b, ¢ or d on the table provided on page 1:

1. The graph of the function is the graph of F () =+vx—1 +3 is the graph of f(x)=+/x

Shifted :
a. 1 unit to the right and 3 units down b. 1 unit to the left and 3 units down
¢. 1 unit to the right and 3 units up d. 1 unit to the left and 3 units up

2. Let f(x)=3+x +1 and g(x)=x2

-1 then domain of (i](x) =
4

a. (1;+0) b.[0:1)U (15400 )

c. [Lo) d. [0;1]U]1;400)

3. Therange of f(x)=3+ 2x
x°+5

2. (3,40) b. (~03) c. [3,4) d. (3,4)

. Tx® =2x2 +3x+5
4, lim
x—0 5x% —6x-2

a L b. o c.0 d =
5 2
5. The function J(x) = xcosx is:
a. a polynomial b. an even function c. a cubic function d. an odd function




6. The function f(x) is represented graphically as:

Jf(x)1is not continuous at x = 2 because :
a. lirrzl f(x) doesn’t exist b. lirrzl S(xX)=12)

c. it is not defined at 2 d f/@)=1

If f(x) = /x and g(x)= _II then: (Answer questions 7 and 8 )
x —
7. feg(0)=

a. 3 b. 9 G L d. L
9 3
8. the domain of the function go f (x) is:
a. (0,1]u[1;+0) b.[0,1)U(1;+0)
c. [L+oo) d. (1;+w)
9. If tanx=l , xe{ﬂ,:;—”:l then S€CX=
2 2
2 V5 V5 2
a — b, — c. —— d. ——
NG 2 2 V5

10. The equation of the axis of symmetry of the parabola y=x’-6x-7 is

a. x=-3 b. x=3 c. x=17 d x=-1




Part IT ( 70%) Answer each of the following questions. Explain and show your work.

1. a) Express the given in terms cosx and sinx

. 3z V.4
Sin(— - x) +cos(x +—) =
(2 x) (x 2)

(4%)
. : . wsh — S\t\% 6;1\
SL«\/%/ CoS __ws/%{&nx. + (oS Z/Z ﬁ_
| ® o o & '
— — Wwox — Sinx
b) Show that ; L—C0SX . sinx _
sin x 1+cosx |
.2 ) ._L
4-tosn s — (4_,wax) (\+c05x)— 8in % Q 3
(4%) S I+ osSx Sinx C14tosx )

4 Lo &¥9) — BIn X G
T aima (V4 ws%)

‘ .2 i
SIn 'x-C"' BRE, = O (%—

fsi AR (,\ +U°s")
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¢) Show that cos® x = —;(l + cos 2x) and then find the value of cos? ~

coste + B3x =1 (O

<4%>9§; o (S
2 - CoS \\"*
2 = s
cosSx — oSva U
//
CoSX /\L
2 !K,.,;f
A COSx = 1+ co5

\

Cos X = -ja— (4 -+ coe ax) G

T—-

* 3 = xg
= L (4 + wé%w
S 0
» VT
5 ) = 2E



1
—_ if x<-1
x+1 7 x

2. Sketch the graph of the functions f(x) ={ x+1 if-1<x<0
Nx+2  if x20

(7%)




3. Assume that for all values of x near 0 the function S (x) satisfies:
. N 7
(8%) cot4xsin2x < f(x)<sin g(sm x+5

Use the sandwich theorem to find ygg f(x)

X Qjm Cot U BINX = Q‘ Eon4m

X —>9
€0
L\’)’— & )n;‘
7«——30 S| N4
2 =[x
Q
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% Qi\mg’ 1 an (x-;-%\:

X->0 6



4. For each of the following find the limit (if it exists)

X . 4x -5 6  Roc® L (__,.‘ (\LL \

= & 0 \
— 8 o [\1/ ~ ~
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(5%) Qm _n+s) Q
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[
3-2x if -1<x<0
x’ if 0<x<2
S. consider the function f(x) = {
3—
=z ‘2"‘ if 2<x<5
(15 %) ek

7 i x=2
a) For what values of x is f(x) continuous ?(write the answer in interval form)

b) If f(x) is not continuous at an interior point ¢ determine whether discontinuity at ¢ is

removable, if not find the continuous extension of S atx=cif possible? (Explain)

@ cont ot =)
o .QC—‘) = 3—'('1') =5

(o |
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